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® 4.3421 x 100 = 43.421 @ 43.421 x 1000 = 4342.1
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® 286.7 x 0.01 = 2.867




O& $ & 25449 AX7F 244 ot Al Akl ¢l A2 o=
<l

@ 0.48x 8.5 @ 5.67x3.12 (@)6.56 x 1.85

@ 8.08x1.94 ® 0.519%x4.3

FohAL Sot Fote 0] 257 ofdf AL
Fol 391 2L Bt ol o, T WE A2
Y

M}

o}
6.56 X 1.85 = Fof A= 49 Fot= 490 A5H
ofg A514=2] gho] 40]12

z=Ztgo 0o] 17] gleug ALk gt ghe
4-1=30%= 453 of Aate] #JUth
wabA 6.56 x 1.85 = 12.136 YUt}




5.

ANAI} 22 SAUR 7|55 AAQ.

@ 15x06x%x3 O 58x0.6x5
© 0.7x0.05%x4 ® 4.3x08x3
@ 0.33x72x%x6 ® 58%x2.7x%x3

it

i

o o0d oX 0%
(LI (LAY TN 1}

0
i

v Vv VvV Vv Vv VvvyvVvvVvvVvyVvyy
X
i

®©® © @ @ O @

B

@ 15%0.6x3=09x3=27
©58%0.6x5=348%x5=174

© 0.7x0.05%x 4 =0.035 x4 = 0.14

@ 4.3x0.8% 3 = 3.44 x 3 = 10.32

@ 0.33 X 7.2 X 6 = 2.376 x 6 = 14.256

@ 5.8%2.7x 3 = 15.66 x 3 = 46.98
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